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ADVANCE BODO

Full Marks : 100

Total number of pages - 4

4x10 : 40

6x4 = 24

Pass Marks : 30

Time : Three hours

The figures in the margin indicate full marks
for the questions.

Q. No. L carries 7 mark each
-1x12 = 12

Q. No. 2 carries 2 marks each 2x12 = 24

Q. No. 3 carries 4 marks each

Q. No. 4 carries 6 marks each

Total = 100

C-ontd.



1. ffi dAq qqr srelrfr fm ff,{ : (A-{lq+fr) LxL2=t2

(6') "iilfr fr{i ri.il" sffi ffirRqr shz

1q) 6qffi *fercr qr?

(q) "t q-gq" qq;qfr rq-{rEFrt{qr t{?
(ql qrd anrt g.n gtqlFfirsl +rtr u-qeFlftcl {Az
(g) {€fi ftffi gs1qrfi-az

(q) "t{rq srrol" \i( qe'ft ffiftqr St?
(B) rtfrfr fr{id iif qrqrf( ffi ErdT

(q) ,ffi{r il-qi qrtitfuq wr+qffi-{?

(g) "flsR-{-q qlqp fqqp" 1i< ve'fr-{sF{ ffirRqr frt?

(q) E'c{r{FrRqr qr{r fr€i Etr-{r q-d qdf 7

fzj qr.n-* tsR ffirt q6q frrfr grfuqtq ensq odfi-{z
(B) "fut{" qs'ffi ffirftcr fr{?
(s) .rdrfrqt mi2

2. qrufu-qmr ft{fqi .e1Etr fuT{lq fan : 2xr2=24

(6) fr-{R g,nf{ TIt e=qr{FrRfr t f€{l
(E) "ffifrq" +tr{ silfd nqerrsrftqr qefd m{qq-fiz

(rr) fscift {-{cr ft?
(s) g-< q€'fr t+ slrqtTr{ ful
19 f+treur mq?
(e) trflfi*fr qqdr cwk+{?
(6) qfi qrQ um tqm q+ rlrq-i ffif 2

(q) q{' 5{-orqfr tliqRr \ic vo'ffi 5c{ qr 3nt ffirft<r +{?

(g) Frt<fi aEIR-qr gg{rq fi+ sdqf{ € ff,tl
(o) efrrca{r ffit?
(z) "Eqr{fr of,{" q6ffi ffiIftet frr 3{rt qI qrqqr{elrcT ffifi-t?
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(a) +dfrmlq mt Tdqr frFrcr€) ora-i ?ri6mr fqfr{qm qr lisfqt{?
(s) rnE qi'tsilR (Subjective) 1i< we'qrd 9-6?

3. qrqfu-qrqr trq trqft fofiIq ffi : 4x10=40

(q') "sTrq" €?slr{grFr E-qgFrft'cr gfrrfr €rlEcrq qri tft qri<f ?

(u) "fri Sfrtqr.nqqi wqrqt{fr Et
ilr{'q erslst{ tqt"
* nf{ tNie-qqFfiqr qI drqrd imri?

(rrl t qrgq Er;eil$rq e-qeftncr qqrft sTurflTdin ilF,€i?
(ql nqqeFrRqr srRqrsr?n *tqrfr{eiqnrqft qffitrqq?
(9 qt'qrq <tcRFFrq grdtq {trts{qs 1-qrirmq tqr+M fetr

(s) lffi{ fr{fs fu1q|qq qrdft ErsrEafde qH} EEii-{:
(6) i-{rq qrrerqr i}lr*crqfr qifuqr qr d-t?
(q) qfrr{r rreqfr erqrq qn figft M urg 6{ffr1r
(v) FTfi srd6m qrd gd ftfqRr tht fd{t
(q) 1952 qrqqr{trmtq tsgo qrcqqfuc q{'qd'slfr mrfigrqrnfr fr+q fu{l

(z) rqftqr fffi qqRrfi qrqlrftdt qgqat w r{rit+tt oTft qrn {d*tr
(a) iffi fd{ -rr6qpgrld ri rffi{rffq AS {q frrIEErq q+" t

4. qrqfie vqr ffi digf{ fu-fiq fu{ ' 6x4=24

(e.) "31ifr <qi eTIsT" E-"{EF{ g& sretrdr;iffr rrclif ferl

(q) t+c+qo s.flii G se'qt{fuft qrt qihtqr{{rt fott

(.r) oirfq ,ra-{ qrdl $d? "illtl 
rrrci d1.+S qrtFteTrq rF-trq qr<i? sqqr

rM fqRtu ffi tuit
(E) " wvqq ffsi Efr, qtsi frqq kq ritif qm" lifn ft{i rtil {qeNF{

116 6r+i f6q1

(9..3TIEqqi6HIF$$fuf}RMiigtddqlffi''ierclrdTiltqrqt
3Tft qrn 1ffir

tsl sdqrq) ffii qfie{rs {flq qrdr? qrqfu qrqr ffit €q {<t v}terat
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